

## Weighted integrability of double cosine series with nonnegative coefficients

by

CHANG-PAO CHEN and MING-CHUAN CHEN (Hsinchu)

**Abstract.** Let  $f_c(x, y) \equiv \sum_{j=1}^{\infty} \sum_{k=1}^{\infty} a_{jk}(1 - \cos jx)(1 - \cos ky)$  with  $a_{jk} \geq 0$  for all  $j, k \geq 1$ . We estimate the integral  $\int_0^{\pi} \int_0^{\pi} x^{\alpha-1} y^{\beta-1} \phi(f_c(x, y)) dx dy$  in terms of the coefficients  $a_{jk}$ , where  $\alpha, \beta \in \mathbb{R}$  and  $\phi : [0, \infty] \rightarrow [0, \infty]$ . Our results can be regarded as the trigonometric analogues of those of Mazhar and Móricz [MM]. They generalize and extend Boas [B, Theorem 6.7].

**1. Introduction.** Let  $a_{jk} \geq 0$  for all  $j, k \geq 1$ . We consider the double cosine series

$$f_c(x, y) \equiv \sum_{j=1}^{\infty} \sum_{k=1}^{\infty} a_{jk}(1 - \cos jx)(1 - \cos ky).$$

The purpose of this paper is to estimate the following integral:

$$\int_0^{\pi} \int_0^{\pi} x^{\alpha-1} y^{\beta-1} \phi(f_c(x, y)) dx dy,$$

where  $\alpha, \beta \in \mathbb{R}$  and  $\phi \in \Delta(p, q)$  for  $p \geq q > 0$ . As defined in [MP],  $\phi \in \Delta(p, q)$  means that  $\phi(t) \geq 0$  on  $[0, \infty]$ ,  $\phi(0) = 0$ ,  $\phi(\infty) = \infty$ ,  $\phi(t)/t^p$  is nonincreasing and  $\phi(t)/t^q$  is nondecreasing on  $[0, \infty)$ . We shall prove

**THEOREM 1.1.** *Let  $p \geq q > 0$ ,  $\phi \in \Delta(p, q)$ , and  $a_{jk} \geq 0$  ( $j, k \geq 1$ ). Then for  $\alpha, \beta \in \mathbb{R}$ ,*

$$(1.1) \quad \int_0^{\pi} \int_0^{\pi} x^{\alpha-1} y^{\beta-1} \phi(f_c(x, y)) dx dy \\ \geq K_{p, \alpha, \beta} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-2p-\alpha-1} n^{-2p-\beta-1} \phi\left(4 \sum_{j=1}^m \sum_{k=1}^n (jk)^2 a_{jk}\right).$$

---

2000 *Mathematics Subject Classification*: Primary 42A32, 42B05.

This research is supported by the National Science Council, Taipei, R.O.C. under Grant NSC 91-2115-M-007-013.

**THEOREM 1.2.** *Let  $1 \leq p < \infty$ ,  $p \geq q > 0$ ,  $\phi \in \Delta(p, q)$ , and  $a_{jk} \geq 0$  ( $j, k \geq 1$ ). Then for  $\alpha, \beta > -q$ ,*

$$(1.2) \quad \int_0^\pi \int_0^\pi x^{\alpha-1} y^{\beta-1} \phi(f_c(x, y)) dx dy$$

$$\leq K_{p,q,\alpha,\beta} \sum_{m=1}^\infty \sum_{n=1}^\infty m^{p-q-\alpha-1} n^{p-q-\beta-1} \phi\left(\sum_{j=m}^\infty \sum_{k=n}^\infty a_{jk}\right).$$

The constants  $K_{p,\alpha,\beta}$  and  $K_{p,q,\alpha,\beta}$  in Theorems 1.1 and 1.2 depend on the indicated parameters only. We adopt the same convention whenever we mention constants of this type later on. Applying Theorems 1.1 and 1.2 to the case  $\phi(t) = |t|^p$ , we obtain

**COROLLARY 1.3.** *Let  $1 \leq p < \infty$  and  $a_{jk} \geq 0$  ( $j, k \geq 1$ ). Then for  $-p < \alpha, \beta < 0$  and  $s, t \geq 1$ , there exists a constant  $K \equiv K_{p,\alpha,\beta,s,t} > 0$  such that*

$$(1.3) \quad K^{-1} \sum_{m=1}^\infty \sum_{n=1}^\infty m^{-\alpha-1} n^{-\beta-1} \left| \sum_{j=m}^\infty \sum_{k=n}^\infty a_{jk} \right|^p$$

$$\leq \int_0^\pi \int_0^\pi x^{\alpha-1} y^{\beta-1} |f_c(x, y)|^p dx dy$$

$$\leq K \sum_{m=1}^\infty \sum_{n=1}^\infty m^{-\alpha-1} n^{-\beta-1} \left| \sum_{j=m}^\infty \sum_{k=n}^\infty a_{jk} \right|^p,$$

$$(1.4) \quad K^{-1} \sum_{m=1}^\infty \sum_{n=1}^\infty m^{-sp-\alpha-1} n^{-\beta-1} \left| s \sum_{j=1}^m \sum_{k=n}^\infty j^s a_{jk} \right|^p$$

$$\leq \int_0^\pi \int_0^\pi x^{\alpha-1} y^{\beta-1} |f_c(x, y)|^p dx dy$$

$$\leq K \sum_{m=1}^\infty \sum_{n=1}^\infty m^{-sp-\alpha-1} n^{-\beta-1} \left| s \sum_{j=1}^m \sum_{k=n}^\infty j^s a_{jk} \right|^p,$$

$$(1.5) \quad K^{-1} \sum_{m=1}^\infty \sum_{n=1}^\infty m^{-sp-\alpha-1} n^{-tp-\beta-1} \left| st \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk} \right|^p$$

$$\leq \int_0^\pi \int_0^\pi x^{\alpha-1} y^{\beta-1} |f_c(x, y)|^p dx dy$$

$$\leq K \sum_{m=1}^\infty \sum_{n=1}^\infty m^{-sp-\alpha-1} n^{-tp-\beta-1} \left| st \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk} \right|^p.$$

Corollary 1.3 can be regarded as the trigonometric analogue of the result of Mazhar and Móricz [MM]. Whenever  $a_{jk} \geq 0$  ( $j, k \geq 1$ ) and  $\sum_{j=1}^{\infty} \sum_{k=1}^{\infty} a_{jk} < \infty$ , the Weierstrass M-test theorem ensures  $f_c(x, y) = f(0, 0) - f(x, 0) - f(0, y) + f(x, y)$ , where  $f(x, y) = \sum_{j=1}^{\infty} \sum_{k=1}^{\infty} a_{jk} \cos jx \cos ky$ . In this case, the double integral in (1.3)–(1.5) can be replaced by

$$(1.6) \quad \int_0^{\pi} \int_0^{\pi} x^{\alpha-1} y^{\beta-1} |f(0, 0) - f(x, 0) - f(0, y) + f(x, y)|^p dx dy.$$

Moreover, one of the sums appearing on the right sides of (1.3)–(1.5) is finite if and only if

$$(1.7) \quad x^{\alpha-1} y^{\beta-1} |f(x, y) - f(x, 0) - f(0, y) + f(0, 0)|^p \in L^1([0, \pi] \times [0, \pi]).$$

On the other hand, if  $1 < p < \infty$  and (1.7)–(1.9) are satisfied by some negative numbers  $\alpha, \alpha_*, \beta$  and  $\beta_*$ :

$$(1.8) \quad x^{\alpha_*-1} |f(x, 0) - f(0, 0)|^p \in L^1([0, \pi]),$$

$$(1.9) \quad y^{\beta_*-1} |f(0, y) - f(0, 0)|^p \in L^1([0, \pi]),$$

then by the Hölder inequality, we get

$$\begin{aligned} & \int_0^{\pi} \int_0^{\pi} x^{-1} y^{-1} |f(x, y) - f(x, 0) - f(0, y) + f(0, 0)| dx dy \\ & \leq \left( \int_0^{\pi} \int_0^{\pi} x^{\alpha-1} y^{\beta-1} |f(x, y) - f(x, 0) - f(0, y) + f(0, 0)|^p dx dy \right)^{1/p} \\ & \quad \times \left( \int_0^{\pi} \int_0^{\pi} x^{-1-\alpha/(p-1)} y^{-1-\beta/(p-1)} dx dy \right)^{1-1/p} \\ & < \infty. \end{aligned}$$

This says that  $x^{-1} y^{-1} |f(x, y) - f(x, 0) - f(0, y) + f(0, 0)| \in L^1([0, \pi] \times [0, \pi])$ . Analogously,  $x^{-1} |f(x, 0) - f(0, 0)| \in L^1([0, \pi])$  and  $y^{-1} |f(0, y) - f(0, 0)| \in L^1([0, \pi])$ . Applying a multidimensional analogue of the Dini test (cf. [Z]) to this case, we conclude that  $\sum_{j=1}^{\infty} \sum_{k=1}^{\infty} a_{jk} < \infty$ . Hence, Corollary 1.3 generalizes [B, Theorem 6.7]. Boas’s result corresponds to the case that  $\alpha = -pr + 1, \beta = -1/2, s = t = 1, a_{jk} = \lambda_j$  for  $k = 1$ , and  $a_{jk} = 0$  for  $k > 1$ .

The validity of (1.7) with  $\alpha = \beta = 0$  and  $p = 1$  has been investigated by several authors. For details, we refer the reader to [CH].

### 2. Preliminaries

LEMMA 2.1. *Let  $p \geq q > 0, \phi \in \Delta(p, q)$ , and  $t_m \geq 0$  for  $m \geq 1$ . Then*

$$(2.1) \quad \theta^p \phi(t) \leq \phi(\theta t) \leq \theta^q \phi(t) \quad (0 \leq \theta \leq 1; t \geq 0),$$

$$(2.2) \quad \phi(\theta t) \leq \theta^p \phi(t) \quad (\theta \geq 1; t \geq 0),$$

$$(2.3) \quad \phi(x + y) \leq 2^p(\phi(x) + \phi(y)) \quad (x, y \geq 0),$$

$$(2.4) \quad \phi\left(\sum_{m=1}^{\infty} t_m\right) \leq \left\{\sum_{m=1}^{\infty} \phi^{1/p}(t_m)\right\}^p.$$

*Proof.* For (2.1) and (2.4), we refer the reader to [MP, Lemma 1]. Let  $\theta \geq 1$  and  $t > 0$ . Then  $\theta t \geq t$ , and consequently,  $\phi(\theta t)/(\theta t)^p \leq \phi(t)/t^p$ . This leads to (2.2). For  $x, y \geq 0$ , we have

$$\phi(x + y) \leq \{\phi^{1/p}(x) + \phi^{1/p}(y)\}^p \leq 2^p \max\{\phi(x), \phi(y)\} \leq 2^p(\phi(x) + \phi(y)).$$

This proves (2.3). ■

Let  $(1, n)$  denote the interval  $\{1 < x < n\}$  and let  $\bar{A}_n$  denote the closure of  $A_n$  in  $\mathbb{R}$ . The relation  $k \in \bar{A}_n$  means that  $k$  runs over all positive integers in  $\bar{A}_n$ . The following lemma generalizes [CL, Lemma 3.2]. The result of Chen and Luor corresponds to the case  $\phi(t) = t^p$ .

LEMMA 2.2. *Let  $\lambda_{mn} \geq 0$  ( $m, n = 1, 2, \dots$ ) and let each of  $\{A_k\}_{k=1}^{\infty}$  and  $\{B_k\}_{k=1}^{\infty}$  be of the form  $\{(1, k)\}_{k=1}^{\infty}$  or  $\{(k, \infty)\}_{k=1}^{\infty}$ . Assume there exists  $0 \leq \tau < \infty$  such that*

$$(2.5) \quad \sum_{j \in \bar{A}_m} \lambda_{jn} \leq \tau m \lambda_{mn} \quad (m, n \geq 1),$$

$$(2.6) \quad \sum_{k \in \bar{B}_n} \lambda_{mk} \leq \tau n \lambda_{mn} \quad (m, n \geq 1).$$

Then for  $1 \leq p < \infty$ ,  $\phi \in \Delta(p, q)$  with  $p \geq q > 0$ , and  $a_{mn} \geq 0$  ( $m, n \geq 1$ ), we have

$$(2.7) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \lambda_{mn} \phi\left(\frac{\sum_{j \in (1, \infty) \setminus A_m} \sum_{k \in (1, \infty) \setminus B_n} a_{jk}}{\phantom{\sum_{j \in (1, \infty) \setminus A_m} \sum_{k \in (1, \infty) \setminus B_n} a_{jk}}}\right) \\ \leq \tau^{2p} p^{2p} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} (mn)^p \lambda_{mn} \phi(a_{mn}).$$

*Proof.* This lemma can be verified by using (2.4) and [CL, Lemma 3.2]:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \lambda_{mn} \phi\left(\frac{\sum_{j \in (1, \infty) \setminus A_m} \sum_{k \in (1, \infty) \setminus B_n} a_{jk}}{\phantom{\sum_{j \in (1, \infty) \setminus A_m} \sum_{k \in (1, \infty) \setminus B_n} a_{jk}}}\right) \\ \leq \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \lambda_{mn} \left(\frac{\sum_{j \in (1, \infty) \setminus A_m} \sum_{k \in (1, \infty) \setminus B_n} \phi^{1/p}(a_{jk})}{\phantom{\sum_{j \in (1, \infty) \setminus A_m} \sum_{k \in (1, \infty) \setminus B_n} \phi^{1/p}(a_{jk})}}\right)^p \\ \leq \tau^{2p} p^{2p} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} (mn)^p \lambda_{mn} \phi(a_{mn}). \quad \blacksquare$$

Employing Lemma 2.2, we can easily derive the following lemma, which generalizes [L, Lemma 3] and will be used to establish Theorem 1.2 and Corollary 1.3.

LEMMA 2.3. Let  $\lambda_{mn}$ ,  $\tau$ ,  $p$ ,  $q$ ,  $\phi$ , and  $a_{mn}$  be as in Lemma 2.2.

(i) If both (2.5) and (2.6) are satisfied by  $A_k = B_k = (1, k)$ , then

$$(2.8) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \lambda_{mn} \phi \left( \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk} \right) \leq \tau^{2p} p^{2p} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{p-(s+1)q} n^{p-(t+1)q} \\ \times \lambda_{mn} \phi \left( st \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk} \right) \quad (s, t > 0).$$

(ii) If (2.5) is satisfied by  $A_k = (1, k)$ , then

$$(2.9) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \lambda_{mn} \phi \left( \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk} \right) \\ \leq \tau^p p^p \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{p-(s+1)q} \lambda_{mn} \phi \left( s \sum_{j=1}^m \sum_{k=n}^{\infty} j^s a_{jk} \right) \quad (s > 0).$$

(iii) If both (2.5) and (2.6) are satisfied by  $A_k = B_k = (k, \infty)$ , then

$$(2.10) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-(s-1)p} n^{-(t-1)p} \lambda_{mn} \phi \left( st \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk} \right) \\ \leq (st)^p \tau^{2p} p^{2p} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} (mn)^p \lambda_{mn} \phi \left( \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk} \right) \quad (s, t \geq 1).$$

(iv) If (2.5) is satisfied by  $A_k = (k, \infty)$ , then

$$(2.10) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-(s-1)p} \lambda_{mn} \phi \left( s \sum_{j=1}^m \sum_{k=n}^{\infty} j^s a_{jk} \right) \\ \leq s^p \tau^p p^p \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^p \lambda_{mn} \phi \left( \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk} \right) \quad (s \geq 1).$$

*Proof.* Let  $A_{mn} = \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk}$ . Summation by parts implies

$$\sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk} \leq st \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} j^{-s-1} k^{-t-1} A_{jk}.$$

We know that  $\phi$  is nondecreasing and  $m^{-s-1} n^{-t-1} \leq 1$ . By (2.1) and (2.7),

we get

$$\begin{aligned} & \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \lambda_{mn} \phi \left( \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk} \right) \\ & \leq \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \lambda_{mn} \phi \left( st \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} j^{-s-1} k^{-t-1} A_{jk} \right) \\ & \leq \tau^{2p} p^{2p} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} (mn)^p \lambda_{mn} \phi(stm^{-s-1}n^{-t-1}A_{mn}) \\ & \leq \tau^{2p} p^{2p} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{p-(s+1)q} n^{p-(t+1)q} \lambda_{mn} \phi \left( st \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk} \right). \end{aligned}$$

This is (2.8). For (2.10), let  $A_{mn} = \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk}$ . We have

$$\sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk} \leq m^{s-1} n^{t-1} \sum_{j=1}^m \sum_{k=1}^n j k a_{jk} \leq m^{s-1} n^{t-1} \sum_{j=1}^m \sum_{k=1}^n A_{jk}.$$

By (2.2) and (2.7), we obtain

$$\begin{aligned} & \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-(s-1)p} n^{-(t-1)p} \lambda_{mn} \phi \left( st \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk} \right) \\ & \leq (st)^p \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \lambda_{mn} \phi \left( \sum_{j=1}^m \sum_{k=1}^n A_{jk} \right) \\ & \leq (st)^p \tau^{2p} p^{2p} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} (mn)^p \lambda_{mn} \phi(A_{mn}) \\ & = (st)^p \tau^{2p} p^{2p} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} (mn)^p \lambda_{mn} \phi \left( \sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk} \right). \end{aligned}$$

This verifies (2.10). By modifying the above proofs, we can easily derive (2.9) and (2.11) by using the one-dimensional version of (2.7). We leave the details to the reader. ■

### 3. Proofs of the main results

*Proof of Theorem 1.1.* Let  $x, y \in (0, \pi]$ . We know that  $1 - \cos \theta \geq 2\theta^2/\pi^2$  for  $0 \leq \theta \leq \pi$ , so  $f_c(x, y) \geq 4(x/\pi)^2(y/\pi)^2 \sum_{j=1}^{[\pi/x]} \sum_{k=1}^{[\pi/y]} (jk)^2 a_{jk}$ . By (2.1), we obtain

$$\phi(f_c(x, y)) \geq \left(\frac{x}{\pi}\right)^{2p} \left(\frac{y}{\pi}\right)^{2p} \phi\left(4 \sum_{j=1}^{[\pi/x]} \sum_{k=1}^{[\pi/y]} (jk)^2 a_{jk}\right).$$

Therefore,

$$(3.1) \quad \int_0^\pi \int_0^\pi x^{\alpha-1} y^{\beta-1} \phi(f_c(x, y)) dx dy$$

$$\geq \pi^{-4p} \sum_{m=1}^\infty \sum_{n=1}^\infty \gamma_{mn}^{2p, 2p} \phi\left(4 \sum_{j=1}^m \sum_{k=1}^n (jk)^2 a_{jk}\right),$$

where

$$(3.2) \quad \gamma_{mn}^{st} \equiv \int_{\pi/(m+1)}^{\pi/m} \int_{\pi/(n+1)}^{\pi/n} x^{s+\alpha-1} y^{t+\beta-1} dx dy.$$

We have  $\gamma_{mn}^{2p, 2p} \geq K_{p, \alpha, \beta} m^{-2p-\alpha-1} n^{-2p-\beta-1}$ . Plugging this into (3.1) yields (1.1). ■

*Proof of Theorem 1.2.* We have  $|1 - \cos kt| \leq \min(k|t|, 2)$ . Let  $0 < x, y \leq \pi$ . Then

$$f_c(x, y) \leq xy \sum_{j=1}^{[\pi/x]} \sum_{k=1}^{[\pi/y]} jka_{jk} + 2x \sum_{j=1}^{[\pi/x]} \sum_{k=[\pi/y]}^\infty ja_{jk}$$

$$+ 2y \sum_{j=[\pi/x]}^\infty \sum_{k=1}^{[\pi/y]} ka_{jk} + 4 \sum_{j=[\pi/x]}^\infty \sum_{k=[\pi/y]}^\infty a_{jk}.$$

By (2.1) and (2.3), we get

$$\phi(f_c(x, y)) \leq K_{p, q} \left\{ (xy)^q \phi\left(\sum_{j=1}^{[\pi/x]} \sum_{k=1}^{[\pi/y]} jka_{jk}\right) + x^q \phi\left(\sum_{j=1}^{[\pi/x]} \sum_{k=[\pi/y]}^\infty ja_{jk}\right) \right.$$

$$\left. + y^q \phi\left(\sum_{j=[\pi/x]}^\infty \sum_{k=1}^{[\pi/y]} ka_{jk}\right) + \phi\left(\sum_{j=[\pi/x]}^\infty \sum_{k=[\pi/y]}^\infty a_{jk}\right) \right\}.$$

This implies

$$(3.3) \quad \int_0^\pi \int_0^\pi x^{\alpha-1} y^{\beta-1} \phi(f_c(x, y)) dx dy$$

$$\leq K_{p, q} \left\{ \sum_{m=1}^\infty \sum_{n=1}^\infty \gamma_{mn}^{qq} \phi\left(\sum_{j=1}^m \sum_{k=1}^n jka_{jk}\right) + \sum_{m=1}^\infty \sum_{n=1}^\infty \gamma_{mn}^{q0} \phi\left(\sum_{j=1}^m \sum_{k=n}^\infty ja_{jk}\right) \right.$$

$$\left. + \sum_{m=1}^\infty \sum_{n=1}^\infty \gamma_{mn}^{0q} \phi\left(\sum_{j=m}^\infty \sum_{k=1}^n ka_{jk}\right) + \sum_{m=1}^\infty \sum_{n=1}^\infty \gamma_{mn}^{00} \phi\left(\sum_{j=m}^\infty \sum_{k=n}^\infty a_{jk}\right) \right\}$$

$$= K_{p, q} \{\Sigma_1 + \Sigma_2 + \Sigma_3 + \Sigma_4\}, \quad \text{say,}$$

where  $\gamma_{mn}^{st}$  is defined by (3.2). An elementary calculation gives

$$\gamma_{mn}^{st} \leq K_{\alpha,\beta,s,t} m^{-s-\alpha-1} n^{-t-\beta-1} \quad (s, t \geq 0; m, n \geq 1).$$

On the other hand, the hypothesis  $\alpha, \beta > -q$  indicates that (2.5) and (2.6) are satisfied by  $A_k = B_k = (k, \infty)$ ,  $\lambda_{mn} = m^{-q-\alpha-1} n^{-q-\beta-1}$ , and

$$\tau = \max\left(\max\left(\frac{2^{\alpha+q}}{\alpha+q}, 1 + \frac{1}{\alpha+q}\right), \max\left(\frac{2^{\beta+q}}{\beta+q}, 1 + \frac{1}{\beta+q}\right)\right).$$

Applying (2.10) to the case  $s = t = 1$ , we get

$$(3.4) \quad \Sigma_1 \leq K_{p,q,\alpha,\beta} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{p-q-\alpha-1} n^{p-q-\beta-1} \phi\left(\sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk}\right).$$

Similarly, it follows from (2.11) that

$$(3.5) \quad \Sigma_2 \leq K_{p,q,\alpha,\beta} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{p-q-\alpha-1} n^{-\beta-1} \phi\left(\sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk}\right),$$

$$(3.6) \quad \Sigma_3 \leq K_{p,q,\alpha,\beta} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-\alpha-1} n^{p-q-\beta-1} \phi\left(\sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk}\right).$$

We have  $p - q \geq 0$ . Putting (3.3)–(3.6) together gives (1.2). ■

*Proof of Corollary 1.3.* Obviously, (2.5) and (2.6) are satisfied by  $A_k = B_k = (1, k)$ ,  $\lambda_{mn} = m^{-\alpha-1} n^{-\beta-1}$ , and  $\tau = \max(-1/(2^\alpha), -1/(2^\beta))$ . Hence, (2.8) with  $p = q$  leads to

$$(3.7) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-\alpha-1} n^{-\beta-1} \phi\left(\sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk}\right) \\ \leq K_{p,\alpha,\beta} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-sp-\alpha-1} n^{-tp-\beta-1} \phi\left(st \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk}\right).$$

Conversely, applying (2.10) to the case  $\lambda_{mn} = m^{-p-\alpha-1} n^{-p-\beta-1}$ , we obtain

$$(3.8) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-sp-\alpha-1} n^{-tp-\beta-1} \phi\left(st \sum_{j=1}^m \sum_{k=1}^n j^s k^t a_{jk}\right) \\ \leq K_{p,\alpha,\beta,s,t} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} m^{-\alpha-1} n^{-\beta-1} \phi\left(\sum_{j=m}^{\infty} \sum_{k=n}^{\infty} a_{jk}\right).$$

Consider  $\phi(t) = |t|^p$ . Putting (1.1), (1.2), (3.7), and (3.8) together yields (1.3) and (1.5). As for (1.4), it follows from (2.9) and (2.11). ■

**Acknowledgements.** The authors are grateful to the referee and Prof. F. Móricz for their valuable comments on this paper.



## References

- [B] R. P. Boas, *Integrability Theorems for Trigonometric Transforms*, Springer, Berlin, 1967.
- [CH] C.-P. Chen and X.-R. Huang, *Weighted integrability of double trigonometric series*, Proc. Amer. Math. Soc. 127 (1999), 1463–1471.
- [CL] C.-P. Chen and D.-C. Luor, *Two-parameter Hardy–Littlewood inequality and its variants*, Studia Math. 139 (2000), 9–27.
- [L] L. Leindler, *On Fourier series with positive coefficients*, Acta Math. Acad. Sci. Hungar. 22 (1971/72), 87–106.
- [MP] M. Mateljević and M. Pavlović,  *$L^p$ -behavior of power series with positive coefficients and Hardy spaces*, Proc. Amer. Math. Soc. 87 (1983), 309–316.
- [MM] S. M. Mazhar and F. Móricz, *Integrability of double power series with nonnegative coefficients*, J. Math. Anal. Appl. 219 (1998), 229–245.
- [Z] L. V. Zhizhiashvili, *The convergence of multiple trigonometric Fourier series*, Soobshch. Akad. Nauk Gruz. SSR 80 (1975), 17–19.

Department of Mathematics  
National Tsing Hua University  
Hsinchu, Taiwan 300, Republic of China  
E-mail: cpchen@math.nthu.edu.tw

*Received April 2, 2002*  
*Revised version October 8, 2002*

(4923)